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— EXx:

>> x=[1234];
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>> y=[289 3]; 1

>> area = trapz(x,y)
area =19.5
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A = quad(‘func’,a,b)

Func: pR=t
a: 1577 MR
b: 557 EFR

>> area = quad(‘1./(x.*3-2*x-5)",0,2)
area =-0.4605
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Ex2: Ilexp(2x)dx

>> A = quad(‘exp(2*x)’,1,2)

A= 23.605
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£ (6sin (41)) = 6 x = (sin (41))

= 6 X cos(4t) x %H[}
=6 % cos(4t) x 4

= 24cos(4t)
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>> x = linspace(0,pi,40);
>>y = 6%sin(4*x); | U |
>> d = diff(y)./diff(x); % backward or forward dlfference
>> dc = (y(3:end)-y(1:end-2))./(x(3:end)-x(1:end-2)); % central
difference d = diffz)

>> dy = 24*cos(4*x); % & f,”i TAE = [#(2) - 2(1),2(3) - 2(2),....x(n) - 2(n - 1)]
>> plot(x, dy, x(2:end), d,'0", x(1:end-1), d,'x’, x(2:end-1), dc,'"')

>> xlabel('x','Fontsize',[60]); D:D:D:ED 1-END

>> ylabel('Derivative','Fontsize',[60])
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O = backward difference
X = forward difference
A= central difference

-- = 24*cos(4*x)



